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L= 644.00m
i
L= 579.60 2,033.44 2,613.04




¢¢

A\ =
HEEDRHESE
GED) T (BHh)
TK B o ﬁﬁLIJF@EEI’ FHEEL P ﬁﬁLIJF@EEI’ AEET P . =
{525y (t=3cm) j45 1P # 8 I (t=4cm) A% Sy (t=3cm) j45 1P 8 L(t=4cm)
& B i fit & B i fit & B i fit LR g B it g B i fit g B it JER
[ B 5em B ET 5]

No. 0 0.90 9.15 10.05

3 [No.0 + 450 4.50 0.90 4.05 3.65 28.80 4.55 32.85 Ashifitk t =5cm
No. 0 + 4.50 0.90 3.50 4.40

3 [No.0 + 550 1.00 0.90 0.90 3.50 3.50 4.40 4.40 Ashifitk t =5cm
No. 0 + 5.50 0.90 4.05 4.95

3 [No. 1 14.50 0.90 13.05 4.05 58.73 4.95 71.78 Ashifitk t =5cm
No. 1 0.90 4.05 4.95

3 [No.1 + 8.00 8.00 0.90 7.20 4.05 32.40 4.95 39.60 Ashifitk t =5cm
No. 1 + 8.00 0.90 4.05 4.95

3 [No. 1 + 14.00 6.00 0.90 5.40 10.90 44.85 11.80 50.25 Ashifitk t =5cm
No. 1+ 14.00

3 [No. 1 + 14.00 7.46 7.46 Ashifitk t =5cm
No.
No.
No. 0 1.00 1.35 2.35

4 [No.0 + 6.50 6.50 1.00 6.50 2.30 11.86 3.30 18.36 Astlizé t =6cm
No. 0 + 6.50 1.00 2.30 3.30

4 [No. 1 13.50 1.00 13.50 2.90 35.10 3.90 48.60 Astlizé t =6cm
No. 1 1.00 2.90 3.90

4 [No.1 + 5.00 5.00 1.00 5.00 2.85 14.38 3.85 19.38 Astlizé t =6cm
No. 1 + 5.00 1.00 3.60 4.60

4 [No. 2 15.00 1.00 16.00 1.95 41.63 2.95 56.63 Astlizé t =6em
No. 2 1.00 1.95 2.95

4 [No. 3 20.00 1.00 20.00 1.95 39.00 2.95 59.00 Astlizé t =6em
No. 3 1.00 1.95 2.95

4 [No. 4 20.00 1.00 20.00 1.90 38.50 2.90 58.50 Astlizé t =6cm
No. 4 1.00 1.90 2.90

4 [No.4 + 11.00 11.00 1.00 11.00 1.95 21.18 2.95 32.18 Astlizé t =6cm
No. 4 + 11.00 1.70 4.50 6.20

4 [No. 5 9.00 1.70 16.30 4.85 42.08 6.55 57.38 9.00 Astlizé t =6cm
No. 5 1.70 4.85 6.55

4 [No. 6 20.00 1.70 34.00 5.45 103.00 7.15 137.00 20.00 Astlizé t =6cm
No. 6 1.70 5.45 7.15

4 [No.6 + 17.20 17.20 1.70 29.24 5.40 93.31 7.10 122.56 17.20 Astlizé t =6cm
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y =
HEEDRHESE
GED) T (BHh)
TK B o ﬁﬁLIJF@EEI’ FHEEL P ﬁﬁLIJF@EEI’ AEET P . =
{525y (t=3cm) j45 1P # /8 T (t=4cm) A% Sy (t=3cm) j45 1P 8 L(t=4cm)
& B i fit & B i fit & B i fit LR g B it g B i fit g B it JER

No. 6 + 17.20 1.70 5.40 7.10

4 [No. 7 2.80 1.70 4.76 5.40 15.12 7.10 19.88 Ashifitk t =6cm
No. 7 1.70 5.40 7.10

4 [No. 8 20.00 1.70 34.00 5.50 109.00 7.20 143.00 Ashifitk t =6cm
No. 8 1.70 5.50 7.20

4 [No. 9 20.00 1.70 34.00 5.90 114.00 7.60 148.00 Ashifitk t =6cm
No. 9 1.70 5.90 7.60

4 [No.9 + 19.00 19.00 1.70 32.30 6.45 117.33 8.15 149.63 8.15 |AstifiZé t =6cm
No.
No.
No. 0 0.90 4.50 5.40

5 |No.0 + 7.00 7.00 0.90 6.30 3.75 28.88 4.65 35.18 5.40 Astlizé t =dem
No. 0 + 7.00 0.90 3.75 4.65

5 |No.0 + 13.00 6.00 0.90 5.40 2.70 19.35 3.60 24.75 Astlizé t =dem
No. 0 + 13.00 0.90 2.70 3.60

5 |No. 1 7.00 0.90 6.30 1.50 14.70 2.40 21.00 Ashifitk t =dem
No. 1 0.90 1.50 2.40

5 |No. 2 20.00 0.90 18.00 1.80 33.00 2.70 51.00 Astlizé t =dem
No. 2 0.90 1.80 2.70

5 |No.2 + 15.70 15.70 0.90 14.13 1.60 26.69 2.50 40.82 Astlizé t =dem
No. 2 + 15.70 0.90 1.60 2.50

5 |No. 3 4.30 0.90 3.87 1.60 6.88 2.50 10.75 4.30 Astlizé t =dem
No. 3 0.90 1.60 2.50

5 |No.3 + 3.80 3.80 0.90 3.42 1.60 6.08 2.50 9.50 3.80 Astlizé t =dem
No. 3 + 3.80 0.90 1.60 2.50

5 |No. 4 16.20 0.90 14.58 2.60 34.02 3.50 48.60 Astlizé t =dem
No. 4 0.90 2.60 3.50

5 |No.4 + 8.00 8.00 0.90 7.20 4.85 29.80 5.75 37.00 Astlizé t =dem
No. 4 + 8.00 0.90 4.85 5.75

5 |No.4 + 950 1.50 0.90 1.35 6.60 8.59 7.50 9.94 7.50 Astlizé t =dem
No.
No.
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y =
HEEDRHESE
GED) T (BHh)
TK B o ﬁﬁLIJF@EEI’ FHEEL P ﬁﬁLIJF@EEI’ AEET P . =
{525y (t=3cm) j45 1P # 8 I (t=4cm) A% Sy (t=3cm) j45 1P 8 L(t=4cm)
& B i fit & B i fit & B i fit LR g B it g B i fit g B it JER

No. 0 1.20 4.05 5.25 5.25

6 [No. o0 0.40 0.40 1.20 0.48 3.50 1.51 4.70 1.99 Astlizé t =5cm
No. 0 0.40 1.20 3.50 4.70

6 [No. 1 19.60 1.20 23.52 3.60 69.58 4.80 93.10 Astlizé t =5cm
No. 1 1.20 3.60 4.80

6 [No. 2 20.00 1.20 24.00 3.60 72.00 4.80 96.00 Astlizé t =5cm
No. 2 1.20 3.60 4.80

6 [No. 2 14.00 14.00 1.20 16.80 3.35 48.65 4.55 65.45 Astlizé t =5cm
No. 2 14.00 1.20 3.95 5.15

6 [No. 3 6.00 1.20 7.20 3.95 23.70 5.15 30.90 Astlizé t =5cm
No. 3 1.20 3.95 5.15

6 [No. 4 20.00 1.20 24.00 3.90 78.50 5.10 102.50 Astlizé t =6cm
No. 4 1.20 3.90 5.10

6 [No. 5 20.00 1.20 24.00 3.90 78.00 5.10 102.00 Astlizé t =6cm
No. 5 1.20 3.90 5.10

6 [No. 5 15.00 15.00 1.20 18.00 3.90 58.50 5.10 76.50 Astlizé t =5cm
No.
No.
No. 0 0.90 2.45 3.35 3.35

7 |No. 0 0.20 0.20 0.90 0.18 3.10 0.56 4.00 0.74 Ashifitk t =6cm
No. 0 0.20 0.90 3.10 4.00

7 |No. 1 19.80 0.90 17.82 3.15 61.88 4.05 79.70 Ashifitk t =6cm
No. 1 0.90 3.15 4.05

7 |No. 1 14.70 14.70 0.90 13.23 3.10 45.94 4.00 59.17 Ashifit t =6cm
No. 1 14.70 0.90 3.10 4.00

7 |No. 1 16.00 1.30 0.90 1.17 5.30 5.46 6.20 6.63 Ashifit t =6cm
No.
No.
No. 0 1.40 6.45 7.85

8 [No. o0 2.00 2.00 1.40 2.80 2.65 9.10 4.05 11.90 Ashifitk t =6cm
No. 0 2.00 1.40 2.65 4.05

8 [No. 1 18.00 1.40 25.20 2.65 47.70 4.05 72.90 Ashifitk t =6cm
No. 1 1.40 2.65 4.05

8 [No. 1 4.30 4.30 1.40 6.02 2.65 11.40 4.05 17.42 Ashifitk t =6cm
No.
No.
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GED) T (BHh)
TK B o ELRLIJFEEEI’ FHEEL P ELRLIJFEEEI’ AEET P . =
{525y (t=3cm) j45 1P # 8 I (t=4cm) A% Sy (t=3cm) j45 1P 8 L(t=4cm)
& B i fit & B i fit & B i fit LR g B it g B i fit g B it JER
No. 0 0.90 2.15 3.05
9 [No. 1 20.00 0.90 18.00 2.15 43.00 3.05 61.00 Ashifitk t =6cm
No. 1 0.90 2.15 3.05
9 [No.1 + 1.20 1.20 0.90 1.08 2.20 2.61 3.10 3.69 Ashifitk t =6cm
No. 1 + 1.20 0.90 2.50 3.40
9 [No.1 + 17.40 16.20 0.90 14.58 2.50 40.50 3.40 55.08 Ashifitk t =6cm
No.
No.
No. 0 2.20 5.00 7.20
10 |No. 0 + 1.50 1.50 2.20 3.30 2.00 5.25 4.20 8.55 Ashifitk t =5cm
No. 0 + 150 2.20 2.00 4.20
10 |No. 1 18.50 2.20 40.70 1.90 36.08 4.10 76.78 Ashifitk t =5cm
No. 1 2.20 1.90 4.10
10 |No. 2 20.00 2.20 44.00 1.90 38.00 4.10 82.00 Astlizé t =5cm
No. 2 2.20 1.90 4.10
10 |No. 3 20.00 2.20 44.00 2.35 42.50 4.55 86.50 Astlizé t =5cm
No. 3 2.20 2.35 4.55
10 |No. 3 + 13.00 13.00 2.20 28.60 2.35 30.55 4.55 59.15 Astlizé t =5cm
No.
No.
No. 0 1.00 7.22 8.22
11 |No. 0+ 3.00 3.00 1.00 3.00 4.50 17.58 5.50 20.58 Ashifitk t =6cm
No. 0 + 3.00 1.00 4.50 5.50
11 |No. 1 17.00 1.00 17.00 4.50 76.50 5.50 93.50 Ashifit t =6cm
No. 1 1.00 4.50 5.50
11 |No. 1 + 16.00 16.00 1.00 16.00 4.55 72.40 5.55 88.40 Ashifit t =6cm
No.
No.
& @ S 72.45 11.50
BERR Bl i
B (Confili)
40.00 102.97 TEE (Asilisg)
FALSE 112.90 248.02
351.79 838.53 315.74 1,007.15
e T A R
L= 644.20m
Hligh
L= 394.70m 133.50 291.48 424.98
B
L= 249.50m 371.19 898.04 1,269.23 315.74 1,007.15 1,322.89
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m R R R E

TR (8 Tk (Bih)
K _— B H&ﬂLI-FFEEEI’ Kﬁlﬂ} PR foﬂLI-FFEEEI’ Kﬁlﬁ} U #® E
{R&EEES (+=3cm) 22 -1=P B T(t=3cm) {R&EEES (+=3cm) 2 o-1=P £ T (t=4cm)
[R5 ifi Fi [N ifi Fif B i 1353 [R5 ifi Fif [R5 ifi Fif [R5 ifi Fif SER
[1& E1Z 5em HifrE95]
1T [No. 0.70 0.60 1.30 2.70
-1 |No. 2.70 2.70 0.70 1.89 0.60 1.62 1.30 3.51 2.70 Ashifide t =3cm
No.
No. Ashiide
2T [No. 0.70 0.60 1.30 1.60
-1 |No. 1.60 1.60 0.70 1.12 0.60 0.96 1.30 2.08 1.60 Ashiide t =3cm
2T [No. 1.20 0.60 1.80 1.00
-2 [No. 1.00 1.00 1.20 1.20 0.60 0.60 1.80 1.80 1.00 Ashifide t =3cm
2T [No. 0.80 0.60 1.40 1.10
-3 [No. 1.10 1.10 0.80 0.88 0.60 0.66 1.40 1.54 1.10 Ashifide t =3cm
2T [No. 0.80 0.60 1.40 1.10
-4 |No. 1.10 1.10 0.80 0.88 0.60 0.66 1.40 1.54 1.10 Ashiide t =3cm
2T [No. 0.80 0.60 1.40 1.10
-5 [No. 1.10 1.10 0.80 0.88 0.60 0.66 1.40 1.54 1.10 Ashifide t =3cm
2T [No. 0.80 0.60 1.40 1.10
-6 [No. 1.10 1.10 0.80 0.88 0.60 0.66 1.40 1.54 1.10 Ashifide t =3cm
2T [No. 0.80 0.60 1.40 1.10
-7 |No. 1.10 1.10 0.80 0.88 0.60 0.66 1.40 1.54 1.10 Ashifide t =3cm
2T [No. 1.30 0.60 1.90 1.10
-8 [No. 1.10 1.10 1.30 1.43 0.60 0.66 1.90 2.09 1.10 Ashiide t =3cm
2T [No. 1.10 0.60 1.70 1.10
-9 [No. 1.10 1.10 1.10 1.21 0.60 0.66 1.70 1.87 1.10 Ashifide t =3cm
2T [No. 0.70 0.60 1.30 1.10
-10 |No. 1.10 1.10 0.70 0.77 0.60 0.66 1.30 1.43 1.10 Ashifid t =3cm
No.
No.
& & ShiELIm 28.20
R AR
_FE¥ (ConfifiZ)
T Bt (AshliZE)
FALSE
12.02 8.46
i T
L= 14.10m
B
L= 14.10m
Bl
L= 12.02 8.46 20.48




L¢

LT

it B OE

Tk (Bgh)
BugEL T PR T AR T AEIHLT
IR I ; o Elle # =
8 = e B LIRS RETHEHEIAS PR TR ARy #J8 T(t=5cm) #
e 2 AR A= AR A= AR e 8 AR LR
[ig Bl 5cm HifirL35]
No. 0 1.00 2.00 1.00 3.00 3.0<B BH
13 [No.0 + 4.00 4.00 1.00 4.00 2.00 8.00 1.00 4.00 3.00 12.00 AsHidt t =39cm
No. 0 4.00 1.00 2.00 1.00 3.00 3.0<B BH
13 [No.0 + 6.50 2.50 1.00 2.50 2.00 5.00 1.00 2.50 3.00 7.50 AsHidt t =12cm
& Bt BESPLD
ANJ1 }
BER &R
| E% (Conffik)
T (Ashiide)
2.50 5.00
it T AE
L= 2.50m
b
L:
fHiBh
1= 2.50m 3.0<B 6.50 13.00 6.50 19.50




8¢

T

I

Tk (FEED) Tk (Bam)
; Bl T -RBEBET AEET BUEL T-REBLET AEIRT
Ix o R PO ; -~ el : o ERZEEI T b =
{éA%E Sy (t=3em) BEEIRS #J8 T(t=4cm) fdfdEsy (t=3cm) HEHEES £ T(t=4cm)
L=t [ L=t i i B [ JER s B [ s B [ s B [ JEE
[lEE % 5em HifrE3 5]
No. 0 3.0<B BH
12 |No. 0 2.92 2.92 Ashilid t =4cm
No. 0 1.00 2.65 3.65 3.0<B BH
12 [No. 0 + 19.45 19.45 1.00 19.45 2.20 47.17 3.20 66.62 Astifidk t =4cm
No. 0 + 19.45 1.00 6.90 7.90 3.0<B BH
12 [No. 1 0.55 1.00 0.55 6.80 3.77 7.80 4.32 Astifidk t =4cm
No. 1 1.00 6.80 7.80 3.0<B BH
12 [No.1 + 535 5.35 1.00 5.35 2.10 23.81 3.10 29.16 Astiidk t =4cm
& FiE=3=lul)
AT ]
BER I
B (Confiidk)
BH T B (Ashifi%)
BH
BH 25.35 77.67
i AL
L= 25.35m B<1.4
fiBh
L= 1.4=<B=3.0
B
L= 25.35m 3.0<B 25.35 77.67 103.02
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iR’ F

By #—{5IERR HFRTIE (HEh)

[ - BREBRE |

TATZ 7 )VNHIERIE t=15cm 0.023
a7V —MEEERRE t=15cm 0.023

X

X

Jit T4E £ (m)
100.65 m

0m

L GRS (m)
X 003 =
X 010 =

0.07 m3

0.00 m3

4
—

0.07 m3




& B "B F

0¢

By Z—{5IERR HFR TIE ()

[ RAEERERE |

i THER: (m)  EHEEGIWTTRS (m)

TAZ77UNHERE  t<15cm 0.023 X 11.5 m X 003 = 0.01 m3
S
=R
a7V —MlERIE t=15em 0.023 X 0 m X 010 = 0.00 m3
0.01




